Orden de Operaciones (B)

Realice las operaciones en el orden correcto.

(26,08 x (24,31 +4,42)) = (68,17 — 50,24)

—_—

N

0,245,954+25,43 134,71 — 1,55

W

19,39+3,32+86,92 21,78 +78,11

4. (72,87 —17,91 — (95,06 — 58,66)) = 0,7

9

35,14 439,88 + 66,32 — 55,35 + 89,55
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Orden de Operaciones (B) Answers

Realice las operaciones en el orden correcto.

1. (26,08 x (24,31 +4,42)) = (68,17 — 50,24)
=3

2.026 5,95+25,43+34,71 — 1,55
= 64,74

W

19.39+3,32486,92 21,78 +78, 11
= 155,96

4. (72,87 —17,91 — (95,06 — 58,66)) = 0,7
— 40,8

hd

35,14 439,88 466,32 — 55,354 89,55
=.175,54
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